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Answers for Lesson 9-4 Exercises

1. zr=T X~ 00r3 2.2c+3;¢c %0

3. b+1b=1 4.2-72 = -7
5_x_2|_5;X¢—5 6_H;X¢6or-4

7. ﬁ;X?&O,yiO 8. 7 x=0,y=0

9. 4y + 303 10. 303 553 X » 30r =3

11, 5= X # 041,002 12 1;x»-2-1,2,0r3

13. ﬁzyz;xvf&yio 14. 523 X=0,y»0
15. 5(x3—+y);x;sy 16. 1,y = -20r4
— 1 4(y — 3
17. ’§Ef\f+ 1§;X¢ -1,1,0r 0 18. yg . Sg;y;t 2,-5 or 0
x — 8. y + 6
19. x —10» X # -30r10 20. y =25 Y # 2
+ 3
21. %;X¢O,y¢-4or3
6(a + 1
2. "

23. The student is not correct; x = 2 will make the denominator
of —~—equal 0, so x = 2 is not a solution.

24. Check students’ work.

25. The numerator and the denominator have no common
factors; check students’ work.
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Answers for Lesson 9-4 Exercises (cont.)

2.3
26. a il =
- 2 + ol 9
2
Tr=\r
b. 0___r

271 + 2rr(r)
c. The ratio for the cylindrical tank is larger.
d. The cylindrical tank will have a larger volume.

a + 3

27. @ - 3@ —3p a* -4,-3,0r3
2(b — 5 4,
28. (b+5),b¢-5 29 % X=0,-54,0r1

18
30 ()C + 9)(}; + 3), X # '9 '3, Or3

x + 1 x+1

31, ¥4 x » -3,3.2,0r4 32, 2 x s -5 11002
— 3
33, ST X - 401 34, 2:x » -3,1
18x°, 2(a + 8)
35. yz,y;tO 36W
37. a. 1.2m/s*
b. =2.68 m/s’
38. a. 2x"+1
b. 2 is a factor of 2x", so 2x" is even, and 2x" + 1 is odd.
39 3yx;,,eOorly;tO 40. 3“2b caz00rb,b=0

41 415 m = 0 or—%n,n + 0
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